X2 F HFEFEIIL—FNIJ—XATLEBESE RA55Pa—)

¥£1HRB 5A248B ={8:45~ (&iEFHEE S8 : 30)

F @ Bk 5 #
 19:00-10:20 10:30-12:10 12:10 | 13:00—17:00
T (1) ~ (4) (5) ~ (9) ~
& |05 570 =S ED 13:00 | Lz +—
1 9:20-10:20 10:30-11:30
T (10) ~ (12) (13) ~ (15)
& | KESEUHED | KES S VHEES
$£2HH 5H2H %=f8:45~ (£EFHE 8 : 30)
F B Bk 5 #
9:00-10:40 10:50-12:10 12:10 15:00-16:40 | 17:00-19:00
5 (16) ~ (20) (21) ~ (24) ~ wm s BBk
1 EZREQ KESLUTHER 14:00
=
— 19:20-10:20 10:30-12:10 14:00—14:40
if (25) ~ (27) (28) ~ (32) EYE 35
& |05 RSAROY |05 A

F1E HMTIEHBE1EE
F2F  HMTIEHE2EE
ORFFIFEBESETRT




